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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 @r s/ AET =T (Problem Figure), T 71 3cax a3t (Answer Figures) & &
uF # wieafed § 98 3o fw S &2

Problem Figure

N

Answer Figures
A B € D
The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?

Problem Figure

S

Answer Figures

w[S[e]8

D

Ans x1A
X2C
v'3iB
X 4D

Q2 o wEanst & ¥ fraar she v sfe g e

Which of the following numbers will have an irrational square root?

Ans (1 625
~ 23025
V31825
< 41225

Q3
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Ans
<1
~< 2.
3.
x4
E _— =
Q4
Ans X 1
X 2.
x 3.
4.
Q.5
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Ans
<1
2.
~ 3
X 4.
E
Q.6
Ans
<1
~< 2
~ 3.
4.
Q.7
Ans
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HTeld{
Tuesday
HHEIR

. Monday
YhdX

v
X 2

X 3.
Friday
>
X 4
Thursday

% 60T 18% FT 54% 872
18% of 60 is 54% of

Ans X 1.180
X 2 40
<330
V420

Q.9 fFm & ¥ ¥ 2017 3R AT fFFe T F9 § wEad F 97T F
I, ST giffer & &7

Which country won the 2017 ICC Women's Cricket World Cup defeating India in the
final?

Ans W “
v '
England
x, T =T

West Indies

New Zealand

Q.10 ot ot & wsft et a7 FeT el @t & oRaa @ Qe ¥ AR ue &
HITH & AT & AUE H6T F & J AF T F AThA F Weds AT F
T @, A A TF g = AT =T Fe?

The sum of the lengths of the edges of a cube is equal to twice the perimeter of a square. If

a quarter of the numerical value of the volume of the cube is equal to the numerical value
of the area of the squars, then the length of one side of the square is:

Ans
x 1 10.5 SIS

10.5 units

x2,9swé

9 units
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x3,27sﬂé

27 units

‘,4_13.5 HS

13.5 units

AN Fg &1 F AEIET FE ARAT a A fE
In which Indian city is the headquarters of the Coir Board located?

Ans TS
X2
Bengaluru

xS

Madurai
Frhe
Cochin

7

Mumbai

v &

X 4

Q.12 & 100 are & dea & gidRa 5 5 39akr fEar sEr Bl 3 et & gca q@nr fhadr 3=

1 @adT gEi?
An electric lamp of 100 W is used for 5 hours per day. How much energy will be
consumed by the lamp in 3 days?

Ans
x, 50 FFe

5.0 units
1.0 gfde

X2
1.0 units

o, 05 T

Q13 gfr tan g = Tlg g, ar cosec?8 — sec?8 F AT 9T FYI

Iftan 6 = Tlg, find the value of cosec?6 — sec?6
Ans
v
X2
X 3.

X 4.

— = = oo
a|lR a5 SN

-
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Q.14

Ans

Q.15

Ans X1_
X 2.

X 4.

Q.16

Ans 1.

Q.17

Ans 1.

Q.18 [
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Rw o 3@ &, Reor 37 @it & wag i § e 9w eR g
35 AT & TR H AfaAieT we § s T W g 3R g 5w A &
g w1 daAftes e &, s o @ gl

T et #r T R ¥ e 9w aR i W ¥ g WA

In the given diagram, triangle represents the set of people who possess a car; square
represents the set of people who possess a house; and circle represents the set of people
who possess gold.

‘What is the total number of people who possess a car and gold but do not have a house?

Ans x 1.
X 2
3.
X 4
Q.19
Ans
Ko
2.
X 3
X 4
Q.20
Ans
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Ans

Q.21
Ans
<1
X2
X3
4.
Q.22 Earnings per day
100 b
e}
500 |
%o |
J 300 |
8 00
e L

(= :
L ard
Earnings per day- 9fa f&a g
Sales in - fadr T )

Sunday- T@aRX Monday- HHaR
Thursday- f¥aR  Friday- Y@Har
Saturday- rf=art

fGU a0 A% & HFTER, Seaas wATS

Earnings per day

Sales in 3
EEEEERE

o L =
@&aﬁ q-&‘P:: éf @)j *‘F.fﬁd

Tuesday- HareaR Wednesday- A

According to the given graph, the highest earnings was on:

r.

o2
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HHAR

X 4.
Monday

Q.23 R a1w 9o A 9¢ HR Ao & F Re 71v awdcat # ¥ a7 @/d casaay
e ¢ |

R
X, Y, Z % ¥twa 3% 180 § | X F 3= fraa 2
TqFAA -
1.Y 3R Z T 91 50 3% o7 WS §
2. X dR Z o arer 60 ¥ 9o WA &
Read the following question and decide which of the given statements is/are sufficient.
Question:
The average marks of X, Y, Z is 180. What is X’s mark?
Statements:

1. Y and Z together score 50 marks
2. X and Z together score 60 marks

Ans x 1.

T T 92T T Iea & F AT 2 3el T ¥, Ak 1 3o g Fat
g

2 alone is sufficient while 1 alone is not sufficient
7> 13X 2 2 v Ty gt §
Both 1 and 2 together are sufficient
X 3

T T 99T & Ieak & F AT 1 3el TAIST §, AT 2 HHem qIea Far
g

1 alone is sufficient while 2 alone is not sufficient

x4_maT1aT2q'aﬁ1¥r%|

Either 1 or 2 is sufficient
°-2‘ﬁmﬁﬁaaﬁﬁ#mma§-wﬁﬁ:%?

Which one of the following elements is polyatomic?

Ans X1W
‘Argdn “
2
Sulphur
_Hﬁﬂhsm
Oxygen
x4 ofzas

Sodium

X3

Q.25 Fyefzw & Aifoe &, Fr TS & WY T@N AT oA |

In Newlands’ table, the elements were placed with the halogens.

Ans x ., Fe 3T se
Fe and Se
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X 4.

Q.26

Ans

Q.27

Ans X1_

Q.28 :

uﬁ;‘swwmﬁaﬁzaﬁﬁaﬁmwrwmgrm%mmm#mﬁ?
Fiar grem ?

s

A

If the transparent sheet is folded at the dotted line, then the resulting figure is.

sBe

A B C D

Ans ?("1_

[72)

(3]

Q.29
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l Chosen Option : 3 J
Ans X 1.

2.
<32
K40

Q.30
Ans
r.

2.
~ 3
~ o4

_— ==
Q.31
Ans
<1
~ 2.
3.
x4
Q.32
Ans
~< 1.
2.
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Q.33

Q.34

Q.35

Ans X1_
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Q.36

Ans

x4

Q.37

Ans

Q.38

Q.39
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Chosen Option : --

Q.40

Ans

~< 4

Q.41

Ans

Q.42
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Ans 1.

Q.43

Q.44
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Ans 1.

Qp.html

Q.45

Ans

Q.46

Ans
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> 2.
3.
x4
Q.47
Ans
<1
X 2.
~ 3
4.
= = .=
Q.48
Ans X 1.
x 2
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Q.49

Ans

Q.50

Ans

Q.51

Ans
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Q.52 37 fyoreT &1 ITT FL 3 & & 7S =T s/@er # 7 3w

s
SR

A C D
Select the option that will come next in the following figure series.

=
bt +

Q.53
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Q.54

Ans

< 1.

x 3.

Q.55

Ans

& 3

Q.56

Ans

Q.57
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Q.58

Ans

Q.59

Ans 1.
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Q.60

Ans

Q.61

Ans 1.

Q.62

Ans
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Q.63

Ans

Q.64

Ans

X110

2.2
<33
<41

Q.65

Ans

Q.66
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Ans
.
2,
X 3
X 4
Q.67 Earnings per day

ﬁw\/\
E”’/V :

2 S 3
@»ﬂy I &S

Earnings per day- 9fa fe=r amr

Sales in T - f&shr (T )

Sunday- TRER Monday- ST Tuesday- e Wednesday- CEEIRS
Thursday- 3&aT Friday- 3@eR Saturday- oifear

T g0 % &F 3R W, AWEA # I S & &= am

Earnings per day

. N
VA

fp ‘ha* rp'. &6‘ &s\

Based on the given graph, the difference in the earnings was the highest between:
Ans

r

X 2

Q.68
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Ans
r.

~o2

Q.69

Ans

x 3.

Q.70

Ans
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Q.71

Ans

Q.72

Ans

Q.73

Ans
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Q.74

Stu/
Sub

55 | 80 | 95 | 60
60 | 20 | 90 | 40
90 | 80 | 40 | 65

N =< |x

& @1% arferer IR RBegi P, C, B ik M & aX ot W, X, Y 3R Z ganr
ITeT 3T T Ulafeifeeg ®edr &1 Tcde fawa & feeas 3w 100 1

AN TN F HOHIA AR FgFaH ufdwa (P, €, M 3R B & fAem) #
fraeT 3T &

Stu/
Sub

W 70 | 90 | 50
X 55 | 80 95 | 60
Y 60 | 20 S0 | 40
z 90 | 80 | 40 | 65

P C B M

The given table represents the marks obtained by four students W. X, Y and Z in four
subjects P, C, B and M. with the maximum marks in each subject being 100.

The difference between the highest and the lowest percentage (P, C. M and B together)
among the four students is:

Ans x 1.
X2
X 3
4.
Q.75
Ans

X3

2.9
<35
<46
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